Key to Final Exam; F4360; Spring 2005; May 10th


Note:  You should write down all equations needed to answer a question and fill in as many numbers as possible.
Short-answer questions/problems

Note:  If you write more than a couple of sentences on a short-answer question, you are likely writing too much.

1.  What keystrokes would you use in Excel to:  

a. to underline a selection.  Ctrl + U
b. paste special - values. Can only be used after a selection is copied or cut.  Alt + E + S + V
c. trace where a selected cell is linked.  Ctrl + ]
2.  List the 3 main ways in which firms repurchase shares of common stock.
Purchase in open market, tender offer, transferable put rights.

3.  In order to show that dividends are irrelevant, a number of assumptions must be made.  If we make these assumptions, then what must a firm do to pay a dividend and what is the net impact on the value of the firm?
1)  must issue additional shares, 2) no net impact on value of firm.

4.  What happens when a firm pays a dividend as a “payment in kind”?
Dividend paid out in product of the firm.

5.  If dividends are taxable income to investors, what will be the impact on stockholder wealth if a firm issues additional shares of common stock to fund the payment of dividends to its existing stockholders?
Falls by an amount equal to the dividend times the dividend tax rate of the investor.

Problems/Essays

1.  Based on the following information, set up the calculations to determine the beta and required return on Intel stock.

Return on T-bills:  2.5%

Expected return on S&P 500:  12%




Return on:  

Year (all returns April through April) 
Intel
S&P500
2005
-8%
4%

2004
40%
21%

2003
-35%
-15%

2002
-9%
-13%

2001
-58%
-14%
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r = 2.5 + (12-2.5)

2.  As a way to attract more movie watchers than is possible through the stores it operates to rent DVD and VHS movies, Blockbreaker Inc. is considering building a new internet-based film distribution facility.  A large number of films will be available because of an contract it recently signed that will give Blockbreaker exclusive rights to all films that will be released by Touchstone, Universal, Columbia, MGM, Paramount, and 20th Century Fox over the next 10 years.  The total cost of the contract is $10,000,000 but since the exclusive rights also apply to DVD and VHS copies of the movies, only $1,000,000 of the cost will be assigned to the internet-based facility if it Blockbreaker decides to proceed.  Note that the contract is already signed since 

Blockbreaker wants the exclusive rights for its physical stores.  Blockbreaker estimates that it will cost $5,000,000 to build the facility and infrastructure.  It further estimates that sales can begin 5 months from today.  Net cash flow in the initial month is estimated to be $500,000.  However, after this initial burst of sales, net cash flows are expected to fall to $100,000 six months from today.  Thereafter, net cash flows are expected to grow (from $100,000) by ½% per month through 10 years from today.  What is the net present value of the proposed facility if the required return on the new facility is 14.5% per year?
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3.  Gel Et Inc. is considering building a new razor recycling center that will collect and sharpen disposable razors so they can be reused.  The new facility will cost $1,000,000 and will generate net cash flows with an expected present value today of $1,150,000 over its expected 20 year life.  The standard deviation of returns on the new facility is 53%.  This is greater than the standard deviation of returns on Gel Et’s existing assets of 49%.  However, because the new facility has low correlation with existing assets, the standard deviation of returns on the overall firm will actually fall to 48.5% for the firm as a whole after the facility is built.  The beta of the new facility is 1.5 and the beta of the overall firm after the project is undertaken will equal 1.49.  If sales at the new facility fail to meet expectations, the facility can be sold for an estimated $500,000 any time over the next 4 years.  The new facility would be funded entirely with cash.  Given this information and the following rates of return on Treasury securities (all APRs assuming continuous compounding), what impact will building the factory have on the value of Gel Et’s assets?

APRs on Treasuries:  1 yr = 3.37%, 4 year = 3.79%, 8 year = 4.00%, 15 year = 4.56%, 20 year = 4.64%
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Note:  look up N(d1) and N(d2) on tables
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NPV = -1,000,000 + 1,150,000 + P0
4.  Assume that the government would like to encourage firms to have more debt in their capital structure and would also like for firms to reinvest more of their earnings rather than pay out these earnings as dividends.  Discuss the changes the government could make to the tax code to encourage these changes.  Be sure to discuss how these changes lead to the desired results.  Note:  you do not need to draw any graphs to answer this question.
1)  Increase corporate tax rate

=> corporate taxes give firms an incentive to issue debt since the interest expense is tax deductible and thus creates a tax shield.

=> if increase corporate tax rate, firms have more incentive to issue debt

2)  Decrease personal tax rate on ordinary income

=> this makes debt less expensive since the decrease in personal tax rates leads investors to accept a lower return on the bonds since less of a loss to taxes

=> if decrease personal tax rates, firms have more incentive to issue debt

3)  Increase tax rate on dividend (equity) income

=> pay less dividends as have more of an incentive to avoid dividends

=> more repurchases, more over expansion and acquisitions of other firms, more investment in securities

Note:  this makes debt even more attractive relative to equity
5.  Assume you own bonds in Murky Pain Killers Inc.  Because of problems with its super strong pain killer 3Ox (most call it triox), Murky has just hired a new CEO, Dick Clark (former host of American Bandstand).  The new CEO has just announced major changes to previously announced plans regarding its capital spending over the next few years.  You suspect that these changes will benefit stockholders at the expense of you as a bondholder of the firm.  Explain the kinds of changes that the firm might have announced that would have made you suspicious and why they make you suspicious.  Discuss also what you could have done to make sure you wouldn’t be hurt by these kinds of changes.  

Possible suspicious activities:

1)  Switch to projects that seem to have higher risk

=> bondholders have fixed claim while stockholders have a residual claim and limited liability

=> if project booms, stockholders get most if not all of the benefit

=> if project fails, bondholder get much if not all the downside

2)  Canceled previously planned projects

=> possible that positive NPV project that was going to be funded with equity

=> value of firm rises by cost + NPV

=> would have benefited bondholders since increases chance that will be paid.

=> stockholders lose if increase in value of stock < new investment.

Possible ways to have prevented:

1)  Restrictive covenants might have helped prevent investment in high risk projects if had limited investments in new industries.
2)  Make sure sufficient monitoring
3)  Make sure debt convertible.
6.  GE Whiz Inc. has recently announced that it will increase its quarterly dividend.  Based on the evidence we have on the reaction of stock prices to dividend announcements, how would you expect stock prices to react to this announcement?  What would explain this reaction?

Would expect stock price to rise

Signaling:  Increased dividends signals that management is optimistic about future earnings and cash flow since more likely to increase dividends today if expect earnings and cash flow to rise in the future.

=> stock prices rise as stockholders revise expectations upwards

Stockholder-manager conflict:  payment of dividends increases the chance that the firm will have to issue securities in the future and when this happens the firm comes under intense scrutiny.  

=> stock prices rise as stockholders view the increase in dividends as positive due to the increased chance of future monitoring keeping management honest today.  

Stockholder-bondholder conflict:  dividends allow stockholders to steal from bondholders since the payment of cash reduces the value of the firm.  This drop in firm value causes both stock and bond values to fall.  It also pays out the least risky asset so firm becomes more risky.  This also benefits stockholders at expense of bondholders.

=> Stock prices rise as stockholders expect a net gain as the drop in stock value is less than the dividend and stockholders keep the entire dividend.  

7.  During a job interview you are asked the following:  “I see you have taken Corporate Finance.  Assume you come to work for us and that one of your first tasks it to analyze whether or not our firm is creating wealth for its stockholders.  Based on what you studied in Corporate Finance, how would you undertake this analysis?  Be sure to explain what you would look for and why.  Also state what information you would need and how you would go about getting this information.”  How do you respond?  Note:  Do not write down any equations, your entire discussion should be conceptual.

1.  Check to see if stock price is increasing.

2.  Calculate EVA

=> want high (positive) and rising EVAs.

=> measure of profit that corrects for violations of the time value of money in accounting profit.

=> recognizes an interest expense on any net spending that has not yet been recognized as an expense for accounting purposes.

3.  Profitability ratios are somewhat helpful but since based on accrual profit of limited value.

Net (and gross) profit margin = net (gross) profit per dollar of sales

=> look for high and increasing number

Return on assets = profit per dollar of assets

=> look for high and increasing number

Return on equity = profit per dollar of equity

=> look for high and increasing number

Note:  DuPont analysis breaks down return on equity into parts:  profit margin, asset turnover, and leverage
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